APPENDIX B, The prediction matrix against the true labels at each trials

point for session 1 and 2 (Sesl and Ses 2)
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CONT, The prediction matrix against the true labels at each trials point for

session 1 and 2 (Sesl and Ses 2)
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CONT, The prediction matrix against the true labels at each trials point for

session 1 and 2 (Sesl and Ses 2)
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TN= trial number, YP
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CONT, The prediction matrix against the true labels at each trials point for

session 1 and 2 (Sesl and Ses 2)

true label, 1= Left hand, 2=

prediction matrix, TL=

TN= trial number, YP
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CONT, The prediction matrix against the true labels at each trials point for
session 1 and 2 (Sesl and Ses 2)

TN= trial number, YP= prediction matrix, TL= true label, 1= Left hand, 2=
Right hand, 3= Foot, 4= Tongue

100 30232 5 5, 222 5 29201 1 13 2 2 22
110 3131l 5, 101 Y 111 2 4 2 3 P LT
120 4 243 53 3 33 3% 3 33 1 1 14 3 333
130 4ty 110 11 201 o201 23 bt
140 t 213 5 43 33 3% 3 33 3 1 31 % 3% 33
150 3 4 32 5 4 22 2 4 22 2 3 23 2 8 22
160 2.3 2% 4 4 4 a4t 4 a4 4 1 a4 2 4 4 44
170 tr4al oy s 110 201101 04 01 04 24 T
180 4 143 5 53 33 3% 3 33 3 1 34 3 38 33
190 3443 5 4 33 3% 4 33 2 4 24 8% 38 33
101 2121y 3 11 201101 401 2 2 V1
111 413 5y 33 3% 1 33 4 2 41 % 4353
121 3132 5 4 22 2 3 292 3 1 43 2 4% 22
131 2 4 2% 4 4 4 a4t 2 44 4 1 a4 2 4+ 8 44
141 42 44 4 4 a4 Y 4 a4 4 4 a4 g 44 44
151 24y 44 Y 1 404 03 1 041 44 44
161 4243 5 4 33 3% 3 33 1 1 14 3 3 33



CONT, The prediction matrix against the true labels at each trials point for
session 1 and 2 (Sesl and Ses 2)

TN= trial number, YP= prediction matrix, TL= true label, 1= Left hand, 2=
Right hand, 3= Foot, 4= Tongue

171 3 231 , , 1 1 Y 4 11 s 4 33 1 211
181 2 03 24, . 4 404 4 44, . 5 5 4 3 4 4
191 42 42 L, L 2 L o o . .o, 02 8 22
102 302 44 L, L, 44 b a4 4 1 a4 44 oa
112 1112 , , 5 5 2 , 5 5 4 4 o3, 2 3 22
122 2 4 21 . o4 101 , 11, 4 o4, 1 8 101
132 2 04 23 _ . 3 . . . . ;5,3 2 33
142 30132 o o, 2 o, o 5 4 . o3 o5 2 1 22
152 41 41 . . .01 ., 11 4 4 34 ' 111
162 2 223 . ., 5 3 38 , 3 3 4 , 3 , 3 2 33
172 1 3 13 . . 5 3 3 . 3 o3 4 4 1, 38 3 33
182 1 211 . L ;1 . 11 5, 5, 51 1 1 11
192 4 1 43 . . 3 3 3 o 5 03 . 4 1 4 3 4 33
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2 1 2 4

13 1

0 4 4 4 4 2 4 4 2 1 2 2

6



CONT, The prediction matrix against the true labels at each trials point for
session 1 and 2 (Sesl and Ses 2)

TN= trial number, YP= prediction matrix, TL= true label, 1= Left hand, 2=
Right hand, 3= Foot, 4= Tongue

113 L4l 4y o 44t 4 o4a 2 01 o201 402 44
123 3332 5 4 222 4 29201 2 13 2 8 22
133 2421 0y 11 Y 311 2 01 02 2 21
143 2.2 22 5 4 22 %2 3 22 3 3 32 2 4 22
153 3 4 34 4 2 44 4 3 44 2 1 2 3 4 4 44
163 v 212 5 5 222 5 22 3 4 31 2 2 22
173 4144y 44 f 3 44 3 2 3 4 4 3 44
183 3 433 5 4 33 3% 4 33 2 4 43 3% 38353
193 3332 5 4, 222 3 22 3 3 33 2 8 22
104 33 32 5 4 22 2 52 292 3 4 33 2 4% 22
114 3 4 32 5 4 2 2 2 1 22 4 4 43 2 2 22
124 413 5y 33 3% 52 33 4 2 41 % 2353
134 2.2 2% 4 3 44 % 4 a4 4 3 a4 2 + 4 44
144 ts oy 110 1 11 04 01 04 23 B
154 2122 5 53 32 2 52 22 1 3 a4 2 2 8 22
164 214y 4 44 Y 2 404 3 3 31 4 3 44
174 4l sy 110 3 101 2 01 o201 23 d



CONT, The prediction matrix against the true labels at each trials point for
session 1 and 2 (Sesl and Ses 2)

TN= trial number, YP= prediction matrix, TL= true label, 1= Left hand, 2=
Right hand, 3= Foot, 4= Tongue

184 3 433 5 4 33 3% 3 331 2 13 3% 3% 33
194 3 433 3 3 33 % 3331 1 13 % %833
105 2 4 2% 4 o 44t 1 a4 2 2 2 2 4 4 44
115 3131y 5, 11 Y 311 3 4 33 1 4 U1
125 4341 5 110 Y 5 1101 2 494 o4 1
135 1413 5 5 33 3% 1 33 2 3 21 % 4 33
145 1242 5 4 2 22 3 22 3 2 34 2 2 22
155 Lyl Ay oy 44 Y 4 4401 40101 308 448
165 314y 2 44t 4 4401 30101 402 44
175 2124 4 4 404t 4 a4 1 3 1 2 4 8 44
185 302 42 5 3 2 2 2 52 22 4 4 a4 4 2 % 2272
195 3231 4 4 11 Y 2 11 2 4 23 1 4 U1
106 2123 5 53 33 3% 52 33 2 1 2 2 % 3833
116 4242 5 5 522 2 3 22 01 2 14 2 2 22
126 38334 4 o2 44 % 3 441 1 13 Y 38 44
136 4241y 110 311 3 4 3 4 Y 3 U1
146 3134 4 4 44 % 2 44 1 3 13 4 8 44



CONT, The prediction matrix against the true labels at each trials point for
session 1 and 2 (Sesl and Ses 2)

TN= trial number, YP= prediction matrix, TL= true label, 1= Left hand, 2=
Right hand, 3= Foot, 4= Tongue

156 4 2 4 3 3 1 3 3 3 5 3 3 5 3 > 4 3 4 3 3
166 2 12 2 2 1 2 2 2 4 2 2 4 3 4 2 2 2 2 2
176 2 2 2 4 4 3 4 4 1 2 4 4 4 3 4 2 4 4 4 4
186 4 2 4 4 4 1 4 4 4 2 4 4 3 4 3 4 4 3 4 4
196 1 4 1 1 1 1 1 1 1 3 1 1 1 5 1 1 1 1 1 1
107 2 2 22 2 4 2 2 2 4 2 2 4 2 4 2 2 3 2 2
117 2122 5 1 5 2 2 5 2 2 4 4 4 2 2 8 22
127 2 1 2 3 3 2 3 3 3 3 3 3 2 1 > > 3 3 3 3
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147 4242 5 5 5 2 2 4 2 2 4 2 4 4 2 8 22
157 t2 oy 110y 11 201 o201 28 bt
167 434l 5 71 1 1101 401 4 2 B
177 214y 3 44 Y 4 4 a 2 4 21 4 3 44
187 3 432 5 4 2 2 2 3 22 3 3 33 2 4 22



CONT, The prediction matrix against the true labels at each trials point for
session 1 and 2 (Sesl and Ses 2)

TN= trial number, YP= prediction matrix, TL= true label, 1= Left hand, 2=
Right hand, 3= Foot, 4= Tongue

197 1 1 11 1 4 1 1 1 1 1 1 3 1 3 1 1 4 1 1
108 4 4 4 3 3 3 3 3 3 1 3 3 3 1 3 a4 3 3 3 3
118 1 2 1 2 ’ 1 2 2 2 1 2 2 4 1 4 1 2 2 2 2
128 3 3 3 2 2 4 2 2 2 1 2 2 3 3 3 3 2 4 2 2
138 1 1 1 3 3 1 3 3 3 > 3 3 1 1 1 1 3 2 3 3
148 2 3 21 1 1 1 1 1 > 1 1 4 1 4 2 1 2 1 1
158 3 2 3 4 3 3 4 4 4 4 4 4 2 4 2 3 4 4 4 4
168 3 3 3 3 3 > 3 3 3 > 3 3 3 4 3 3 3 4 3 3
178 4 1 4 3 3 3 3 3 3 1 3 3 2 4 2 a4 3 3 3 3
188 1 2 1 3 3 1 3 3 3 > 3 3 3 > 3 1 3 3 3 3
198 2 2 2 3 3 1 3 3 3 3 3 3 4 1 4 2 3 3 3 3
109 4 1 41 1 4 01 1 1 4 1 1 2 4 2 4 1 3 1 1
119 2 2 2 2 5 5 2 2 2 > 2 2 3 > 3 o 2 3 2 2
129 3 4 31 1 1 1 1 1 1 1 1 1 3 1 3 1 3 1 1
139 3 1 3 2 ’ 3 2 2 2 > 2 2 1 1 1 3 2 4 2 2
149 1 4 1 1 1 1 01 1 1 3 1 1 1 4 1 1 1 4 1 1
159 4 3 41 1 1 1 1 1 3 1 1 4 > 4 4 1 3 1 1
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CONT, The prediction matrix against the true labels at each trials point for
session 1 and 2 (Sesl and Ses 2)

TN= trial number, YP= prediction matrix, TL= true label, 1= Left hand, 2=
Right hand, 3= Foot, 4= Tongue

169 2223 45 5, 33 3% 1 33 2 3 2 2 8% 233
179 4 343 5 4 33 3% 3 33 1 4 14 % 38 33
189 22,y 2 202 1 22 3 4 31 2 8 22
199 t 213 5 5 33 3% 52 33 1 2 11 % 3% 353
200 32 34% 4 3 44 % 4 44 3 2 33 3 4 44
210 3231 4 53 11 Y 2 11 2 1 23 1 4 V1
220 2 4 2% 4 4 44t 4 a4 4 2 a4 2 4 8 44
230 444l s 1Y 1 1101 2 01 04 3 B
240 2321 4 5, 11 411 3 2 3 2 P 3 U1
250 2222 5 4 3 2 2 4 22 3 2 3 2 2 2 22
260 V3l 4y 4 44 Y 2 40401 4011 408 44
270 2123 5 4 33 3% 1 33 3 3 32 % 3833
280 4 142 5 5 5 2 2 3 2 2 2 4 2 4 2 8 22
290 4244 4 o 44 Y 4 a4 1 3 a4 4 43 44
201 2823 53 4 33 2% 3 33 4 1 42 % 833
211 2124 4 3 44 % 3 44 1 1 a4 2 4 4 44
221 2123 45 53 33 3% 3 33 3 1 32 3% 433
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CONT, The prediction matrix against the true labels at each trials point for
session 1 and 2 (Sesl and Ses 2)

TN= trial number, YP= prediction matrix, TL= true label, 1= Left hand, 2=
Right hand, 3= Foot, 4= Tongue

231 2.3 24 4 4 404 Y 4 44 01 1 1 2 4 8 44
241 4 1 42 L, 2 2, 5 0 4 o o4 04 %2 3 22
251 8 4 42 5 4 2 2 2 1 22 2 4 294 2 8 272
TN Su Subject 5

2:: Subject 2 Subject 3 Subject 4

t1

YP TL Ses TL TL TL YPSes TL

Se YP Ses Ses YP Ses Ses YP Ses Ses Ses

S

1 2 12 1 2 12 1 2 12 1 2 12 1 2 1 2
261 8 4 34 4 1 44t 2 404 4 1 4 3 * 4 44
271 43 41 0 52 7 1 311 52 o2 2 4 1 2 11
281 1112 5 4 0 2 2 4 022 1 1 11 2 8 22
291 2. 1. 22 5 4 2 2 2 4 292 3 1 3 2 2 8 22
202 8 02 32 5 5 5 92 2 4 5292 52 2 23 2 38 2272
212 2 4 23 53 3 33 8% 5 33 1 4 1 2 % 8 33
222 L1 14y 4 44 4 52 44 3 1 3 1 4 4 44
232 43 41 0 5 11 1 11 3 4 3 4 Y 38 11
242 s L4 v 1 44 % 4 44 1 1 11 & 4 44
252 8 3 41 4 11 3 11 3 4 3 4 1 2 11
262 1113 5 5, 33 3% 4 33 4 1 41 %8 4 33
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CONT, The prediction matrix against the true labels at each trials point for
session 1 and 2 (Sesl and Ses 2)

TN= trial number, YP= prediction matrix, TL= true label, 1= Left hand, 2=
Right hand, 3= Foot, 4= Tongue

272 e T T T T T P SRS T TR SRR B B
282 VAl d 4 44 Y 3 404 2 2 201 2 8 44
292 t4a oy 710 301101010101 23 bt
203 3333 5 4 33 3% 4 33 2 3 23 3% 38353
213 3231 4 4y 11 Y 2 11 4 3 43 1 4 V1
223 4242 5 5, 52 2 2 3 22 2 3 2 4 2 8 22
233 2823 53 4 33 2% 52 33 4 2 42 % 8 33
243 3333 5 4 33 3% 52 33 3 2 33 3% 333
253 302 3% 4 4 44 % 4 a4 2 3 2 3 4 8 44
263 3231 4 4y 11 Y 311 2 1 23 1 3 V1
273 L3 42 o 4 22 2% 4 22 2 4 2 4 2 % 22
283 3334 4 o2 44 % 4 44 3 3 3 3 4 4 44
293 vyl 2 202 3 2 2 4 4 41 2 % 22
204 3 233 45 5, 33 3% 1 331 1 13 8% 3% 33
214 13 5, 33 % 4 33 2 2 21 % 4 33
224 424l 11 1 11 4 4 o4 g b3
234 2 4 2% 4 4 4 a4t 4 a4 1 401 2 4 2 44
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CONT, The prediction matrix against the true labels at each trials point for
session 1 and 2 (Sesl and Ses 2)

TN= trial number, YP= prediction matrix, TL= true label, 1= Left hand, 2=
Right hand, 3= Foot, 4= Tongue

244 4 4 42 L 5 52, 5 4, 3 o, 2 4 22
254 4 4 44 L A a4 a4 34 14 44
264 3131 . 4 1Y 4 11 4 4 43 1 311
274 4 2 41 ., . ;1 , 1 1 4 3 14 1 311
284 4 343 . . 5 3 838 4 33 4 45 1 4 3 2 33
294 3 233 , , 5 38 , 3 3 5 4, 3 3 8 3 33
205 2 3 2 2 s 1 2 2 2 5 59 5 5 4 5 5, 2 3 > 2
215 R S SR
225 3 2 32 , , 5, 5 2 4 5 5 ., 4 4 93 2 3 22
235 1.3 12 , 5 5 2 5 5 5 4 4 o401 2 2 22
245 2 221 ., . 1l L, {7 5, 3 3, 1 411
255 2 01 22 . . 5 5 2 5 5 5 . . o 5, 2 4 22
265 2 4 24 o, 44 444 43 5 2 4 4 4
275 301 34, L 4 4% 4 a4 9 a4 o903 4 4 4 4
285 2 2 2 2 s 2 2 2 2 4 59 5 4 5 4 9, 2 3 > 2
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CONT, The prediction matrix against the true labels at each trials point for
session 1 and 2 (Sesl and Ses 2)

TN= trial number, YP= prediction matrix, TL= true label, 1= Left hand, 2=
Right hand, 3= Foot, 4= Tongue

S

1 212 1 2 12 1 2 12 1 2 12 1 2 1 2
295 4242 5 5 5 2 2 1 22 1 4 1 4 2 2 22
206 3332 5 4 22 2 3 292 4 1 43 2 2 22
216 4 242 5 4 22 2 3 22 3 3 34 2 8 22
226 2.3 24 4 4 44 Y 1 44 2 1 22 4 4 44
236 33 3% 4 4 44 4 a4 a4 4 1 a4 3 4 38 44
246 1313 5 4 33 3% 3 33 4 4 41 % 333
256 4 3 44y o2 44 Y 3 44 1 3 1 4 4 2 44
266 vl 0y 110 3101 02 03 201 2t
276 3232 5 5, 2 2 2 3 292 2 4 23 2 8 22
286 4 243 53 5, 33 3% 4 33 3 1 34 % 333
296 L3l 2 oy 2 202 4 22 4 4 a1 2 4 272
207 3131l 11 Y 311 2 4 23 1 4 U1
217 L4l 4y 4 440 Y 3 4401 3011 4 3% 44
227 221y 1Y 4y 1101 201 2 2l
237 2124 4 5 404 * 4 44 1 1 4 2 Y 8 44
247 4l 110 211 02 01 o201 24 bt

27 4 3 41 1 4 1 1 1 1 1 1 1 2 1 4 1 2 1 1
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CONT, The prediction matrix against the true labels at each trials point for
session 1 and 2 (Sesl and Ses 2)

TN= trial number, YP= prediction matrix, TL= true label, 1= Left hand, 2=
Right hand, 3= Foot, 4= Tongue
5

267 rts 1ty sy 1101 1103 2 031 2l
277 a4l 1Y 3 11 2 2 o204 3
287 3 433 3 4 33 % 2 33 2 1 23 % 833
297 3 233 5 53 33 3% 3 33 3 1 33 3% 333
208 214y 3 44 Y 4 4401 2 011 4 2 44
218 3132 5 3 22 2 4 22 4 1 43 2 % 22
228 2123 53 4 33 % 3 33 3 1 32 % 833
238 2123 45 4 33 3% 3 33 3 2 32 % 3833
248 t 113 5 3 33 3% 4 33 3 4 31 % 3% 33
258 3 2 34% 4 3 44 % 4 44 3 1 33 Lt 38 44
268 t 813 53 53 33 % 1331 2 11 % 4 33
278 2321 4 5 9711 311 2 1 22+t 11
288 t 113 sy 33 3% 52 331 01011 % 2353
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